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guartetwise diff0

= Enries 3528
— Mean ~0.0008229
— Std Dev 0.05705
:I' ] I|—|| 1 1 I T | | I I | | 1 1 1 1 | 1 1 1 | | 1 1 Iﬂ [

-0.15 -0.1 —0.05 0 0.05 0.1 0.15

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5867 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot

Entries 0
Mean 0
Std Dev 0

a0

B0

70

60

50

40

30

20

10

Run 5867 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

— Entries 3528
— Mean —0.0008Z29
— Std Dev 0.05705
:I' ] I|—|| 11 I T | | I I | | I T | I I | 11 1 A-l [ T

-0.15 -0.1 —0.05 0 0.05 0.1 0.15

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 5867 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

Entries 0
Mean 0
Std Dewv 0




120

100

BO

60

40

20

Run 5867 quartetwise, NegHelAccO/NSamples0: All
quartetwize_negHQ
[ Entries 3528
— Mean 0.3127
- Std Dev  0.082594
_II III|II |III|IIII|'II
0 01 0.2 0.3 0.4 0.5 0.6
MNegHelAccD/NegHelNSampleso
Run 5867 quartetwise, NegHelAccl/NSamplesl: Beam ON, Laser ON
guamstwisa baami las® nagHD
Entries 0
Mean 0
Std Dev ]

120

100

B0

60

40

20

Run 5867 quartetwise, NegHelAccO/NSamples(: Beam OFF

guarebwise_bsamd negkll

Entries 3528
Mean 0.3127
Std Dev  0.08294

1
0.4
MNegHelAccO/NegHelNSamplesO

1
0.5

1
0.6

Run 5867 quartetwise, NegHslAccl/NSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




120

100

B0

60

40

20

Run 5867 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

Entries 3528
Mean 0.3119
Std Dev  0.08361

J-..—I-.Il

|
0.4
PosHelAccO/PosHelNSamplesD

1
0.5

0.6

Run 5867 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

guamstwisa baami las! posHc

Entries 0
Mean 0
Std Dev 0

120

100

B0

60

40

20

Run 5867 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

Entries 3528
Mean 0.3119
Std Dev  0.08361

J-..—l-.ll

|
0.4
PosHelAccO/PosHelNSamplesD

1
0.5

0.6

Run 5867 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

quamstwiza baomi lnsl poskHs
Entries 0
Mean 0
Std Dev 0




120

100

B0

60

40

my
=

Run 5867 quartetwise, Sums0: All

=

quartetwize_summbD

Entries 3528
Mean .6245
Std Dev 0.1565

SrTT

0.4

0.6

0.8

1

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5867 quartetwise, Sums0: Beam ON, Laser ON

guamshwiza baami las! summi

Entries 0
Mean 0
Std Dev 0

120

100

B0

60

40

ry
(=3

=
SrT T

Run 5867 quartetwise, Sums0: Beam OFF
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